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Logical
topology

Network
technology

Physical
topology

Description

Bus

Ethernet

Bus or
star

A logical bus topology can be implemented as a physical bus
(although this topology is now obsolete). When a logical bus
is implemented as a physical star using wired Ethernet, the
center of the star is an Ethernet hub. Whatever the physical
topology is, data transmitted from a computer is received by
all other computers.

Wireless
LANs

Star

Wireless LANs use a physical star topology because they
connect through a central access point. However, only

one device can transmit at a time and all devices hear the
transmission, so a wireless LAN can be considered a logical
bus topology.

Ring

Token ring

Star

Token ring networks use a central device called a multistation
access unit (MAU or MSAU). Its electronics form a logical ring,
so data is passed from computer to computer in order, until it
reaches the destination device.

FDDI

Ring

FDDI devices are connected in a physical ring, and data passes
from device to device until it reaches the destination.

Switched

Ethernet

Star

A switched logical topology using a physical star topology
running Ethernet is by far the most common topology/
technology combination now and likely will be well into the
future. A switched topology creates dynamic connections

or circuits between two devices whenever data is sent. This
topology is sometimes considered a switched point-to-point
topology because a circuit is established between two points
as needed to transfer data (like turning on a switch), and then
the circuit is broken when it's no longer needed (like turning
off a switch).
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Ethernet i i (Ethernet Networks)
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Frame header
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payload)

Frame trailer
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Collision domain
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100 Mbps & —~ 3§ (Fast Ethernet)
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